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=20 BEFEASKEE _ _ _ _ _
2KEIE 2KEIE 2KEIE 2KEIE 2KEIE RKEIE
FHERFER | 2AGE lcmblE  2IKE 30cmbl | BKE ImBLE  BAKE 2mLlE  RKESmELE  RIKE 10mLlE
(NgHB—)L) (NgB—)L) (NgHB—)L) (NgBE—)L) (NgB—)L) (NgH—)L)
p371-} 640 510 270 70 - -
FER 4,430 3,500 2,030 1,120 70 -
HRAR (X ER) 110 80 40 * * -
R AR (SR ET) 1,270 1,220 1,110 920 460 150
EHEJNN 1,770 1,280 710 340 20 -
B4R 2 15,090 13,660 10,140 6,720 2,640 540
EHE 7,010 5,600 3,010 1,540 410 160
=88 18,430 17,250 13,680 8,430 2,090 110
KB FF 800 480 150 40 * -
EER 1,130 780 320 120 * -
IR 6,010 5,360 4,150 2,790 530 *
] 1L 1,280 820 230 40 * -
LER 3,380 2,430 1,240 530 * -
wAe 2,200 1,630 890 350 -
R 7,890 6,640 3,200 1,190 50 *
EFNIE 2,710 1,880 770 220 * -
ZRE 8,020 6,720 4,020 1,900 260 -
=R 8,350 7,880 6,590 5,020 1,830 110
1=E R 1,440 1,100 570 240 * -
RIGE 1,750 1,460 860 110 * -
N 330 280 180 30 - -
KRB 5,930 5,190 3,450 1,590 270 *
=iFR 10,920 10,150 8,260 5,900 1,820 30
EREE 4,630 4,140 2,910 1,330 50 -
FiEE 2,260 1,830 850 80 - -
&t 117,790 101,900 69,620 40,620 _10,520 1,100
— =KL

* 10N A— LR




7 —2Q0: HXET# AEKEFE

=IKER(NIE—IL) [RKRE]

N ‘
%BJER.‘-TI;R% FHIZET*T% 1cmll E 30cmEl E iml E 2mil E 5milE 10mLLE
KPP 20 * * * _ _
Hirth 80 60 30 * - -
wEEXKET - - - - - -
=4 10 10 * - - _

| 3457 30 20 * * - -
W=bhhmh 50 40 20 * - -
TEE  EEIETH 50 40 20 * - -
=B il - - - - - -
i 210 170 100 40 - -
$8M@™ 70 60 50 20 - -
BRI BB TR 35k BT * * - - - -
BRI AR K L ET 100 80 40 * - -

AR xa] BR B i A 20 10 * * - -
FERPER 40 20 10 * - -
FEHRERIIRX * * * - - -
FERRER - - - - - -
FEREER - - - - - -
FERXER 30 20 10 * - -
#kFh 150 120 80 40 -
i 30 20 10 * - -
fntE™ 10 10 * * - -
G 570 520 400 240 30 -
AREZEM 160 90 40 * - -
WETH * * - - - -
R * * * - - -
Hem * * * - - -
JEth 100 90 70 40 - -
BEHH * * * * - -
fimm™ 120 110 80 60 - -
R 20 20 10 * * -
i o we w o

o EE 230 210 160 120 * -
TRAE i T i) - - - - - -
EiZEHh * * * * - -

=9 457 180 150 100 50 - -
AR 20 10 * * - —
#H/mETh 10 * * - - -
EERT 400 350 260 160 20 -

MEETH 120 100 40 10 - -
I 190 140 90 60 - -
WIHH 290 240 130 60 * -

ZFE AR B BT - - - - - -
AEBEST 220 130 50 20 - -

WK E A+ L EHRT 310 200 110 70 - -

L R4 2 S BT 90 70 30 20 - -
RER—=H 250 190 70 20 * -

&4 BRBE R BT * * * - _ _
REAEMEEH 220 170 70 30 * -
REE B FHE 550 400 130 60 * -

R IR ARETE BT 60 50 40 20 * -

LB AR GE A ET 30 30 20 10 - -
j;ﬁl&ﬂlz * * * - - -

- X * * * - - -
T Bk 5 3 : - - -
8 HERX - - - - - -
XEEX - - - - - -
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> B
%BJER.‘-TI;R% Tﬁ[zm]—*{t% 1cmll E 30cml £ 1mEl E 2mil b 5mil tE 10mEL E
BEREX * * * — = =
=HKX * * * - - -
IERX 20 20 * * - -
mIIX 10 * * * - -
HEX * - - - - -
KHEEX 30 20 10 * -
HE# HEASRX - - - - - -
(X&) | H“ARX - - - - - -
E2EX - - - - _ _
X * * * - - -
X * * * - _ -
RIIX * * * - _ _
B * * * - - -
SIFNEX 20 10 * - - -
KXEBTKEH 110 110 100 80 40 *
F EFF EFT 20 10 10 10 * *
HENFIEFR 230 220 210 190 140 70
HETH MEENMEER 120 120 110 110 90 50
(%l}ﬁ;nm =EFN=EH 140 140 120 110 60 *
~E A RS A 20 20 10 10 * -
J\3CHET/\3CHET 180 180 160 140 70 10
FrENBrER 10 10 10 10 * *
INERFINERF 420 400 340 250 40 *
HEMERX 80 40 * * * _
BERMHEIIIX 120 60 * * _ -
HEMAX 50 40 * * - -
BEmPRX 30 20 * * - _
HEEmmX * * * - - -
BEMRIYTYARX * * * - - -
HWEMEEFX 30 10 * * - _
BEREREX 40 20 * - - -
HEMEILEX * * * - - -
N )| X 250 100 10 * - -
JNigHERX - - - - - -
I e e e e B R
EITE JU[iE Ehl/ E3 - - - - - -
IR HMAET 360 280 160 50 - -
TIFH 10 10 * * - -
2 3=Mitl 130 120 100 80 20 -
R ™ 120 100 50 30 * -
INBIRTH 40 40 20 * - -
Fo 5 20 20 20 * - -
EFH 120 110 70 40 * -
=@h 260 230 160 80 * -
= AEREE LA 40 30 20 20 * -
R BB K B HT 30 30 10 * - -
AR — = HT * * * * - -
BT AR E#SHT 20 20 10 * - -
AR T 8B % A R BT * * * * - -
aETh - - - - - -
EEHERX - - - - - -
BRETHES X 310 240 130 80 30 *
FBEER  BETHEKRX 1,220 1,140 920 420 30 -
ENTHHRRX 330 260 80 10 - -
ERMTERR - - - - - -
ENMTHAER 1,860 1,670 1,070 640 180 70




7 —2Q0: HXET# AEKEFE
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> B
%BJER.‘-TI;R% Tﬁ[zm]—*{t% 1cmll E 30cmEl E imBl E 2mPl E 5mil E 10mLL E
ERTE X 2,170 2,010 1,350 800 320 80
AT 60 40 10 - - -
ERTESER - - - - - -
BiE™ 710 660 490 310 90 -
% 5] 40 30 30 10 - -
=B - - - - - -
FE™ 70 60 50 30 -
EHT - - - - - -
EtmH 230 160 100 40 - -
BH™H 1,370 1,150 740 430 140 *
BEE™ 1,100 910 510 190 20 -
B 520 450 300 150 60 *
=35l - - - - - -
RHT 150 120 90 80 40 -
kil 480 460 440 400 310 120
RRIE R sl 800 780 730 630 300 80
FEH 120 120 110 100 30 -
fENETE 970 930 820 700 350 80
il - - - - - -
FEOEM - - - - - -
WzRm 1,050 1,000 890 730 330 10
BRI EFEE 70 70 60 50 20 *
B AR ERT 70 70 60 50 20 *
B AR R 330 320 290 260 190 60
B % AR I ET 190 180 170 140 50 *
EREA AR 250 250 240 220 90 *
FH 75 ZR Bk mg ET - - - - - -
EL AR A KET - - - - - -
EL R AR R SR ET - - - - - -
ERAN S HET 610 580 460 250 20 -
LEETTFER - - - - - -
Z2EETMRR - - - - - -
LEEFRILR - - - - - -
LEERAR - - - - - -
LEETFFE - - - - - -
L2EEMHFR - - - - - -
L HETHBIX - - - - - -
Z2EEMRER * * * * - -
HEEMRERX - - - - - -
HEEHTHIIIRX * * * * -
HEEHERX 670 510 270 50 -
HEETERX 270 190 20 10 - -
B8 LEETRSFILER - - - - - -
T AHEMRE 90 70 20 * - -
LEETRAR - - - - - -
=SE™H 490 310 180 150 110 50
*HEH 110 80 20 * - -
EBH™ - - - - - -
2T 80 50 20 * - -
2B - - - - -
E2@Emh 70 50 30 20 -
MATH * * * - - -
ZIH - - - - -
FE™ 890 720 330 130 -
S ARTH 170 140 60 20 - -
wiEm 360 270 110 30 - -
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> B

%BJER.‘-TI;R% Tﬁ[zm]—*{t% 1cmll E 30cml £ 1mEl E 2mil b 5mil tE 10mEL E
NG - - - - - -
¥ 180 140 50 * * -
KAFm - - - - - -
v EAt] 30 20 20 * - -
3Lth - - - - - -
=Rt 20 10 * * - -
4z I1] - - - - - -
HIE™ 2,780 2,380 1,450 860 270 110
gLtk * - - - - -
AZA™ * * * - - -
t&EE™ - - - - - -

EBEHME WMEM 70 40 20 * - -
hE™ * * * - _ .
& B FHERE LT - - - - - -
EERER K HET * * * - - -
EERAREE TR - - - - - -
EERER TR B AT 110 60 20 10 - -
%N % BRBI A LLET * * * - - -
%0 % AR SR HET * * * - - -
%2 B FAE0 S HT 430 400 320 180 20 -
yIEZ ) 110 90 50 20 * -
MZEAH = HT 40 30 * * - -
%6 H AR Sz HET - - - - - -
b= 4371} 3,310 3,010 1,940 450 * -
mAmH 430 270 70 20 - -
REH 3,470 3,350 2,760 1,620 20 -
NG 3,400 3,160 2,370 1,120 * -
4 20 20 20 * - -
$5EETH 210 150 60 30 - -
EET 570 550 520 460 200 *
B3 820 800 730 630 210 10
REFrh 210 200 180 160 90 *
LWEARTH - - - - _ _

=5 SEM 2,200 2,120 1,920 1,560 570 40

= RABAKE UHET * * * * - -
EF AR EHT - - - - - -
—EFE A * * * * - -
= EFB)IFRHET 70 50 30 10 - -
% S AREAFNET 1,210 1,140 890 480 * -
ESE E AT * * - - - -
EE A KICHET 70 60 50 50 30 *
EL AR 1,230 1,190 1,100 980 610 40
& EZE AT 910 890 830 730 310 10
B4 £ AR R AT 170 150 110 90 50 *
BEEEMCER 130 110 80 30 * -
K& & X - - - - - -
KirFREERX - - - - - -
KR LETERX 70 50 30 * - -
KR - - - - - -
KEEmHER 10 * * * - -

KBRFF KRR RER 20 10 * * * -
AEHREFR - - - - - -
KERARER - - - - - -
KIrmdEEIIX 10 10 * * - -

RBRrTERIE) X

RBRATERA R
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> B
%BJER.‘-TI;R% Fﬁ[zm]-*:f% 1cmll E 30cml £ imBl E 2mPl E 5mil E 10mEL E
P mPa X - - - - - =
Y] 50 40 10 - - -
El&H 90 50 20 * - -
BAAET™T 20 10 * - - -
mEm 210 140 40 * -
NAT 60 50 30 * - -
EEH‘T * * * * - —
Eikwdiil - - - - - -
BAE * * * - - -
g & * * * * - -
RER . S 30 20 * - - -
ES2 4] - - - - - -
=W * * * — Z _
JIlFE™H - - - - - -
mEHHLHm 260 200 140 90 -
g™ 50 40 20 * - -
=20 10 * * - - —
e AR FE S ET - - - - - -
hody ER S EEET * * * - - -
EERAATFHE - - - - - -
I 1,180 840 390 100 * -
Emm 490 460 350 150 * -
EH™ 150 120 70 30 - -
#hHh 420 390 320 200 30 -
Hdmh 480 450 390 280 * -
F=Em 120 110 110 100 30 -
F HARZXHET 110 100 50 20 * -
E AL BT 170 160 130 70 * -
H S #B S /EHT 200 180 140 90 40 -
N =t =) 100 100 80 60 * -
TR B= 0 BT 160 160 140 110 * -
H = ZBEN g AT 130 130 110 90 20 -
H S &AL ~HT 150 140 110 80 20 -
FAEER KR 470 440 360 270 40 -
BEZEE = HET - - - - - -
FAEER G IHHET 200 190 170 130 50 *
R EARAN LS B ET 580 560 520 440 110 -
HEEZ AR HhAT 110 110 100 90 20 -
HEZAHEE)IET * * * * - -
HE Z AL AH 760 720 630 490 150 *
ELmdE X 20 10 * - - -
L X * * * - - -
ML ERERX 50 30 10 - - -
LR X 120 90 10 - -
B¥mHm 340 150 40 10 -
am  EET 160 100 40 * - -
BILR  wme 90 70 40 20 . .
fEaIm 70 50 20 - - -
HPAT 400 300 70 * - -
0Ot 30 10 * - - -
fERR BHT - - - - - -
EOER EHT - - - - - -
E§$;B 80 70 10 * - -
g N X * * * * -
L& LETEX 360 190 30 * -
LEMARX 40 20 * * - -
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%BJER.‘-TI;R% Tﬁ[zm]—*{t% 1cmll E 30cml £ 1mEl E 2mil b 5mil tE 10mEL E
LEhTERX * * - - - -
LEMREILR - - - - - -
LETMEER 170 150 100 30 - -
LEEMERR 30 20 * * - -
am 720 480 210 90 - -
migE™ 110 70 30 10 - -
=& 120 80 30 20 - -
EEE$ 540 440 320 170 -
g {&W 370 240 130 50 - -
BER X 20 20 . ¥ _ _
HILE™ 70 50 20 10 - -
HAmHTH 70 60 40 20 - -
IHE™ 250 200 110 40 - -
T E BT R T 30 20 * * - -
TEERE EHET 210 190 90 * -
= AR REET T - - - - - -
T ERYRET 50 20 * * - -
EHEKIE £ ST 120 110 80 50 - -
ki 420 290 120 20 -
FEbmh 110 60 30 * - -
=k 180 100 50 20 - -
iliiatl 150 90 50 30 - -
T#™H 60 60 30 20 - -
=EH 60 50 30 20 - -
K 60 50 30 20 - -
WOR  dHH 310 250 150 60 - -
Erah 230 170 90 30 - -
WS /NEFETH 50 40 20 10 - -
KEZEFHKEHET 320 280 190 70 - -
AT BR A0 A ET * * - - - -
AEEER_LRHET 70 60 40 20 - -
RE EETH A HEHT 80 50 20 * - -
AE B AR A HT 100 80 40 20 - -
mE™ 1,860 1,480 630 210 - -
EeFymH 1,060 930 310 40 - -
INRETH 1,690 1,450 530 40 - -
melm FEH 2,180 1,920 1,240 610 20 -
TN B ER AR A sy ET 90 80 60 40 * -
B ERAR SR ET 190 180 160 120 10 -
B ERER B REET 270 250 200 120 20 *
R EF AR AN S BT 540 360 70 * - _
=i 320 180 50 * -
AE™ 200 150 100 50 -
R TH 1,020 650 180 40 - -
BFH 310 260 130 50 - -
HhEM 130 80 20 * - -
! -9y oXi] 70 60 10 * - -
~ == 280 200 100 40 - -
ING ER L EHT 120 110 60 * - -
INSERNE EET 90 80 50 * - -
B ENST) 80 60 40 * - -
FEINERF 2 EHET 20 10 * * - -
it 2 EEER % BT 70 40 20 * - -
NI 850 660 320 70 * -
FTIER SA 1,230 980 470 190 * -
FHEM 630 590 500 380 60 -
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%BJER.‘-TI;R% Fﬁ[zm]—*{t% 1cmll E 30cml £ 1mEl E 2mil b 5mil tE 10mEL E
J\FEET 230 220 190 160 50 -
FEET 880 680 310 90 * -
T 2,100 1,750 1,070 360 * -
KM 90 80 50 30 - -
Eamdit] 240 190 60 20 - -
ZRE MmEDRT 450 350 190 40 - -
ichedlii] 150 140 120 90 20 -
AT AR B ET 80 70 50 30 - -
% BRFLAITET 440 370 130 * - -
FEFFEMF A HET 180 170 140 100 20 -
EFENZ T 480 470 420 330 110 -
=3 1,380 1,210 670 180 40 -
ES=ht) 300 280 240 190 50 *
7= 490 450 370 260 80 *
rEEf 50 50 40 30 20 -
TiETH 240 220 200 160 20 *
Al 1,010 990 910 780 320 10
BET 1,020 1,000 940 860 270 *
TiEBKT 1,000 980 930 840 420 20
M5+ 210 200 170 120 60 20
=R EBETH 610 560 400 210 30 -
R ERER T 140 130 90 60 * -
T AR E - FIHT 100 90 70 50 20 -
L= E0 H ErHT 90 90 70 30 * -
RE= AL HET 60 50 40 30 20 -
REEEF 30 30 30 20 * -
= 8 AR A £ { BT 350 340 310 260 70 *
= AR 5 AT 240 230 190 130 50 *
1% 2 R K A BT 170 170 150 120 40 *
1% 22 AF 2 ET 860 830 770 680 310 40
M mFgEI R 330 250 130 40 * -
dEAMm AR 90 70 20 * - -
dAamm/hEILRX 270 140 20 * - -
:H:;;%I;ﬂill\%ﬁilz 280 220 120 70 - -
N Y - 90 70 30 20 - -
R R L 10Dl 90 80 60 30 - -
FRARAR X FH BT 30 20 10 * - -
FELEAEE * * * * - -
& FE L EHRT - - - - - -
F AR LT 260 240 170 60 * -
K& 370 290 170 30 * -
R 280 230 120 20 - -
HRE™H 30 30 20 * - -
S adiil 100 90 50 * * -
NI * * * - _ _
EIBFE HEWM 370 320 190 20 * -
Gich =43 1] 160 140 80 20 * -
EH 20 20 10 * - -
HEBERM 110 100 70 * - -
e EAN/IMEE BT 70 60 30 - - -
FMEENET L B EET 220 190 110 * - -
gkl REM 310 270 170 30 - -
TN REAEFEACET 20 20 10 * -
Kot 1,640 1,370 740 120 *
KB RIFFH 220 170 90 10 - -
e 50 30 * * - -
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RIKEE(NIF—IL) [RKEE]

e ‘
%BJER.‘-TI;R% Fﬁ[zm]—*-j-% 1cmll E 30cml £ 1mEl E 2mil b 5mil tE 10mEL E

#|m 1,840 1,780 1,530 1,000 270 -
FI¥FTh 480 450 360 200 * -
EARM 290 280 230 80 - -
2= HM 200 140 30 * - -
KR HEH 350 290 170 70 - -
FiE™H 370 270 50 * - -
EEH 270 220 120 50 - -
HEREESF 80 70 50 20 - -

R RERE BT 150 130 80 20 - -
=I5 3,720 3,440 2,670 1,710 500 *
TR 2,210 2,020 1,530 1,040 500 *
HE™ 660 630 560 460 50 -
BRI 1,910 1,840 1,630 1,350 330 20

=i | ESihhT 210 180 120 80 * -
T RGE S HRET 600 540 440 280 60 -
RS AR = BT 440 390 300 130 40 -
RZE0) | FaET 220 210 190 160 80 *
RiZERER = BT 340 330 300 270 160 *
BEIAFARFT) I ET 620 590 530 430 110 *
EIRET 110 100 60 20 - -
EEM 10 10 * * _ _

A E] 40 30 20 * - -

fal AR T 90 80 60 20 - -
HK * * - - — -
bit=hitl 100 80 40 10 - -
mz &M 330 310 250 180 30 -
Tk 40 40 20 * - -
FEEE)IINTH 180 160 110 30 - -
HE&Em 70 60 40 20 - -
Z£EmH 20 20 * * - -
WbEEEKREFH 70 50 40 10 - -
BEa O 170 140 100 20 - -
EmEh 380 350 250 140 -
EoE il 350 320 220 90 - -
EAM T 60 60 40 20 - -
wRM 30 20 10 * - -
EREHR=ZEH 20 20 10 * - -
EREE EREER+EH 150 130 90 20 - -
HKER K S HET 60 50 30 * - -

B AR KU ET 150 130 90 50 * -
FrE#R R £ B HT 60 50 50 30 * -

FF = 2R & s T BT * * * - - -

FF & &R A KB ET 160 150 120 80 * -

FF /= AR AT 4 BT 190 180 150 100 * -
REEBRhFEFHT 160 140 110 80 * -
REERNmfEFHT 180 160 130 90 * -
REEEFREAEHT 320 300 230 130 * -
KEBRKFF 30 30 20 * - -

K EBFIRA 50 40 30 * - -

X BB EEF NET 210 180 110 20 - -

X & BRAE SBRET 80 80 50 20 - -
KXERREFHE 460 390 230 70 - -
KXEBEZ EHT 90 80 50 10 - -

K B BB R L ET 70 60 30 * - -

K EERFLET 30 30 20 * - -

X EERFI;AHET 50 40 30 * - -

10
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e ‘
%KJER.‘-TI;R% T‘ﬁ[Zlﬂ]'ﬁ'% 1cmll E 30cmEl E imBl E 2mPl E 5milE 10mLlE
b[a%g_ i%gﬁﬂz_ ET 30 30 20 * - -
FEILEI K EERE SRET 30 30 20 * - -
MEAT 20 20 * * - -
BEREH * * * - - -
AiEH 280 230 70 * - -
,ﬁlﬁfﬁ * * * - — _
HiE™ 150 130 70 10 - -
Fimth 20 10 * * - -
pkET 40 20 * * - _
EREH 20 20 * * . -
25Fmh 110 90 50 * - -
EN=1-hil 170 150 80 * - -
2k 50 50 30 * - -
ESEAEZE+T 140 100 50 * - -
ESEEB K E R 30 20 10 * - -
ESEEEER D) 30 30 20 * - -
EEEAR S IRIZH 50 40 20 * - —
[E SEER A ERET 50 40 20 * - -
ESEEEHY=E L) 70 60 30 * - -
[ESEERE BF EEHF 20 20 10 * - -
%:gggf-ﬁtﬂ 40 30 20 * - -

3 = FEEpip R S 20 10 * - - -
AR ok 20 0 . _ - -
Hh BB AR 2= AN ET * * * - - -
FEEERIL A ET * * * * - _
FhEERR AL AT * * * * - _
FREEER IS 20 10 * * - _
h BB AR 75 R BT * * * * - -
E FRER 5 AR R BT * * * * _ _
ERAEZEH 30 20 10 * - -
B R AR EE e kAT 60 50 30 * - -
ERMERHF 20 10 * - - _
EREERLEN * * * * - _
ERAEXEH 10 10 * * - -
ERERIL KREH * * * * - -
ERBFEEH 70 60 40 * - _
EREFERH 80 70 30 * - _
ERAAKEHR 140 120 60 * - -
B FRER/\ E $EHT * * * * - -
Nt E2=10ED) 60 50 30 * - -
I\NELET =BT 340 270 70 - - -
J\ZE LA} 5 1 [ BT 20 20 * - - -
— =KL
* D 1ONDA— LR

11




r—2Q RSk ER

2K E TR SKER SKEE SKEE SKEE KB
HERFRE | 2KE lcmblE | BIKE 30cmbl  BAGE ImBlE  BAKE 2mblE  BKESMLLE ZKE 10mlE
(NGB—)L) (NGB—)L) (NGB—)L) (NGB—)L) (NGB—)L) (nNGB—)L)
RIS 470 370 160 30 - -
FER 1,640 1,380 880 280 * -
B AR (X ER) 90 70 30 * * -
B AR (SIEER) 760 720 610 430 80 *
EE=JNN]Y 750 550 250 60 * -
Fedrile 3,310 2,820 1,840 1,090 170 *
AR 2,660 2,060 1,040 490 70 -
=EE 9,520 8,210 5210 2,450 320 *
PN 3,060 2,170 660 120 * -
EER 2,860 2,110 980 350 90 *
IR 10,990 10,430 8,920 6,800 2,470 220
i LU R 1,370 930 290 50 * -
LER 2,910 2,130 1,110 480 * -
wAg 2,000 1,500 810 320 * -
wmEE 12,370 11,380 7,940 4,420 1,000 130
FIE 3,520 2,520 1,020 270 * -
ZiRE 7,320 6,130 3,700 1,770 240 -
1=l 12,720 12,060 10,350 7,860 2,910 300
EEE 1,350 1,020 550 240 *
RIBE 1,830 1,520 920 140 *
REERE 350 290 190 40 - -
KB 6,000 5,210 3,430 1,510 240 *
HiFE 10,050 9,230 7,360 5,230 1,440 *
ERER 4,700 4,180 2,910 1,370 40 -
TPRER 2,170 1,760 790 50 -
a5t 104,770 90,750 61,950 35,850 _ 9,080 660
—2KEL
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N i
%BJER.‘-TI;R% FHIZET*T% 1cmll E 30cmEl E imBl E 2mil E 5mil E 10mEL E
KE™ * * * - — —
Hirm 60 50 20 * - -
wEEXKET - - - - - -
=4 10 10 * - - -
| 3457 30 20 * * _ -
(03 ==Y~¥:))i7] 20 20 * * - -
TEE  EEIETH 50 40 20 * - -
=B il - - - - - -
i 140 100 40 10 - -
$8M@™ 60 60 40 * - -
BRI AR e 3k BT * * - - - -
BRI AR K L ET 70 50 10 * - -
AR ER R AT * * * - - -
FERPER 20 10 * * - -
FEHRERIIRX * * * - - -
FEHRMER - - - - - -
FEREER - - - - - -
FERXER 20 20 * * - -
k¥ 70 60 40 20 - -
i 30 20 * * - -
ftE™ 10 * * * _ _
fElLH 290 270 200 50 * -
AREZET 80 60 20 * - -
WRE™ * x - — _ _
EE™ * x * — _ _
HEem * * * - - -
JBH 80 70 50 20 - -
g * * * - - -
Bsdh 60 50 40 10 - -
il 20 10 * * * -
e 5 T % % | - T -

e e 100 90 70 20 - -
TRR i Gl - - - - - -
BiEm * * * * _ _
=945 90 80 50 * - -
AEm 10 10 * * _ _
4@ * * * - - -
EERT 170 150 110 40 - -
MEETH 20 20 10 * - -
WE 80 70 50 20 - -
WIHH 70 60 30 * * -
F I AR B BT - - - - - -
N I=E:hil 40 30 20 * - -
WK E A+ L EHRT 90 80 50 10 - -
L R4 2 S BT 60 40 20 * - -
RER—=H 40 30 10 * - -
&4 BRBE R BT * * * - - -
REBAREHN 30 20 10 * - -
REE B FHE 100 70 30 10 - -

B PR AR N 15 BT 20 20 10 * * -

=B AR SR m BT 20 20 10 * - -
- X * * * - - -
HEX - - - - - -

XHEX
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> B
%BJER.‘-TI;R% Fﬁ[zm]-*:f% 1cmll E 30cmEl E iml E 2mil E 5milE 10mLLE
BREX * * * = - -
=HKX * * * - - -
IERX 20 10 * - - -
X * * * - - -
BEX * - - - - -
KHEEX 20 20 10 * -
HE# HEASRX - - - - - -
(XED) X - - - - - -
E2EX - - - - _ _
X * * * - - -
X * * * - _ -
RIIX * * * - _ _
B * * * - - -
IR 10 * * - - -
KXEBTKEH 40 40 30 10 - -
F ST EFT * * * * - -
HEMNFEH 60 60 40 30 - -
HETH HEEFHEEN 40 40 30 20 * -
(%l}ﬁ;nm =EFN=EH 70 60 50 30 * -
SR BB EN 10 * * * _ -
J\ CHET/J\SCHET 90 80 70 50 * *
BErEFNErEMN * * * * * -
INERFINERF 430 410 360 280 70 *
HWEMERX 40 20 * * - -
HEmARIIIEX 50 20 * * - -
HEEHMARX 30 10 * * _ -
HEmPRX 10 * * * _ -
EmmER * * - - - -
BEMRLITyAEX * * * - _ _
HWEMEFX * * * - - -
HWEMERE 20 10 * - - -
HEEHmEILX * * - - - -
N )| X 50 20 * * - -
NgHERX - - - - - -
z< =] “ A Ehl/ IZ - - - - - -
IR HMAET 200 160 60 * - -
i * * * - - -
2 3=Mitl 50 40 20 10 -
pRIR™ 40 30 20 * - -
/NEIRT™ 20 10 * - - -
FiETh 20 10 * * - -
EFh 50 40 10 * - -
=#m 140 110 70 20 - -
=EARZE LA 20 20 10 * - -
rh BR A BLHT 10 * * - - -
AR — = HT * * * - - -
BT AR E#SHT 10 * * - - -
AR T &R % Al R BT * * * - - -
aEh - - - - - -
EEHERX - - - - _ _
R X 60 60 50 30 * -
FEE  FBEWEKR 290 210 70 20 * -
P N sl * * - - - -
ERMTERR - - - - - -
ENTHRERX 220 200 140 100 * -
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%BJER.‘-TI;R% Tﬁ[zm]—*{t% 1cmll E 30cmEl E imBl E 2mPl E 5mil E 10mLL E
ERTE X 230 220 170 110 10 -
AR 40 30 * - - -
ERTESER - - - - - -
BiE™ 170 150 90 30 - -
BiEmh 20 10 * * - -
=B - - - - - -
FE™ 20 20 10 * - -
EHM - - - - - -
EtH 40 30 10 * - -
M 160 140 90 50 * -
T 490 380 200 80 * -
#lmH 180 150 90 70 30 -
=353l - - - - - -
2%#$ 60 50 40 30 * -
e FH 110 90 70 30 - -
PRI R o sk vl 150 130 100 80 * -
FEH 20 20 * * - -
fEN AT T 340 320 270 180 70 *
il - - - - - -
FEOEM - - - - - -
WzRm 440 380 270 180 30 -
BRAEFEE 20 20 10 * - -
B R AR ERT 10 10 * * _ -
B AR R 80 70 40 30 * -
B 5% AR ET 20 20 10 * * -
EXRANRFEE 40 30 20 * - -
H 75 ZRErI Fg BT - - - - - -
EL R AR A KET - - - - - -
ELA R AR R SR ET - - - - - -
R AN S HET 110 90 60 40 * -
LEETTFER - - - - - -
LEETRR - - - - _ _
L2EEMIER - - - - - -
LEERAR - - - - - -
LEETFFE - - - - - -
Z2EEMHFR - - - - - -
£ HETHBIX - - - - - -
LEETERER * * * * - -
Z2EEMHER - - - - - -
HEEHRHIIIRX * * * * - -
HEEHERX 370 290 110 30 * -
HEEHTERX 20 20 20 * - -
B8 LEEFRSFILER - - - - - -
T AHEMZE 70 60 20 * - -
LEETRAR - - - - - -
=SE™H 180 120 90 60 * -
*HH 110 70 20 * - -
EBH™ - - - - - -
2T 30 20 10 * - -
ZBEmH - - - - - -
Ermh 70 50 20 10 * -
X & 30 30 20 * - -
=TT - - - - - -
mEM 490 350 130 40 - -
AR 140 110 40 10 - -
wiEm 90 70 30 * - -
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> B
%BJER.‘-TI;R% Tﬁ[zm]—*{t% 1cmll E 30cmEl E imBl E 2mPl E 5mil E 10mLL E

NG - - - - - -
¥ 140 110 40 * * -
KFFtHh * * * - _ -
v EAt] 20 20 10 * - -
3Lth - - - - - -
=Rt 20 10 * * - -
4z I1] - - - - - -
HIEH 500 440 310 220 60 -
gLtk * - - - - -
AZA™ * * * - - -
t&EE™ - - - - - -

BB HEM 60 40 20 * - -
hE™ * * * - _ .
& B FHERE LT - - - - - -
EERER K HET * * * - - -
EERAREE TR - - - - - -
EERER TR B AT 60 40 20 * - -
%N % BRBI A LLET * * * - - -
%0 % AR SR HET 20 20 10 * - -
%2 B FAE0 S HT 140 130 80 30 - -
yIEZ ) 30 30 20 10 - -
MZEAH = HT 30 20 * * - -
%6 H AR Sz HET - - - - - -
b= 4371} 740 520 200 60 * -
mAmH 210 120 30 * - -
REH 2,160 1,900 1,110 230 * -
N7 1,730 1,400 640 130 - -
4 20 20 10 * - -
eEE™ 70 50 30 * - -
BETF 420 410 360 270 50 -
EPH 510 450 360 260 * -
REFrh 160 150 130 110 30 -
LNVERT - - - - - _

=8B SEM 1,260 1,130 850 500 70 *

T RABAKE UHET * * * - - -
EF AR EHT - - - - - -
=EEREA A HE * * * * - -
= EFB)IFRHET 40 30 20 * - -
% SERBAFOET 710 620 300 50 - -
ESE E AT - - - - - -
EE A KICHET 40 40 30 30 10 -
EL AR 640 610 520 380 40 -
& EZE AT 600 580 470 330 90 -
B4 £ AR R AT 90 90 70 60 20 -
BEEEMCER 100 90 60 20 * -
K& & X - - - - - -
KirFREERX - - - - - -
KR LETERX 90 70 50 30 - -
KR - - - - - -
RKIEMHERX 20 10 * * - -

KBRFF KRR RER 40 20 * * * -
AEHREFR - - - - - -
KERARER - - - - - -
KIrmdEEIIX 10 10 * * - -

RBRrTERIE) X

RBRATERA R

16
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EKER (~TF—1L) [EAEE]

B T8 X BT 4
%BJER:TI;R% FHEET*T% 1cmll E 30cmEl E iml E 2mil E 5milE 10mLLE

A EFFX - - - - - -

KB fE X

RBRrTE R R

KB riffE EF X

REAES X

REEHRESTE

RBrida X

KBl X

I S I I R B |
I S I I R B |
[ I I T O B |

REMEERR

RKIERH{EFEZIX 280 1

o
a
o
—_
o

KB FEFX

KBt X -

Tl o[ % % 1 1 1 1]1

ABRiTRREX -

RHRRX 440 260 50

B X - - -

R 640 460 100

SRR - - -

L% L% 11 )1

AR - - -

FMES 240 170 60

N
o

it - - -

DXEEFE * * *

RKEH 420 360 140

SN =L - - -

Bixw 80 60 20

F O - - -

M7 - - -

KA - - _

JNETh - - -

RIEHH 60 30 20

BRI

NG

XE

MR

Hmm

R

FiET

EiEm

L0l

(2]
o

420 70

BRASFT

I e Y Y O Y B

L PN

SREATH

w
o

30 20

PR B

R

N
o

20 10

SR 3t B 5 R ET

w
o

20 *

SR A AR RE HR BT

*
*
*

SR AD E BT

SR A AR W ET 20 20

N
o

HMPHMERE#EX 330 230 40

R G I S I S N B I I - I O O AR B R S O B |

HPEMm#X 40 10 *

wW
o

#HEFTEER 300 270 190

#HEFMmEARKX 20 * *

)
H
Sm

HPETHEERX 20 10 *

5 T E KX * * *

1% %

MAE I X - - -

N O T Y O Y A

wW
o

HEHmHRRX 380 300 140
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M =}
%BJER.‘-TI;R% Tﬁ[zm]—*{t% 1cmll E 30cmEl E imBl E 2mPl E 5mil E 10mLL E
P mPa X - - - - - -
Y] 70 50 20 * - -
El&H 270 190 60 20 - -
BAAET™T 20 20 * - - -
mEH 670 460 130 30 * -
NAT 150 110 50 20 * -
EEH‘T * * * * - —
Eikwdiil - - - - - -
*EEH‘T * * * * - —
e =yl 10 10 * * * -
TR RTET 30 20 10 - - -
ES2 4] - - - - - -
=L 10 * * * - -
JII T - - - - - -
mEHHLHm 370 300 240 180 90 *
oy il 140 90 40 10 * -
V=IO 1] 10 * * - — -
e AR FE S ET - - - - - -
hney AR HE EE BT * * * * - -
EERAATFHE - - - - - -
FEIIGG 2,660 2,390 1,670 760 20 -
Emh 690 670 610 460 10 -
EH™ 290 250 150 70 10 -
#hHh 1,050 990 860 660 310 50
Hidmh 950 930 880 820 480 10
F=Em 120 110 110 90 30 -
F HARZXHET 190 190 170 140 20 -
EHEERL)IET 270 260 240 220 50 -
EIETEE%;EET 590 580 510 420 120 30
N =t =) 250 240 210 160 50 *
LA A= 0 BT 220 210 200 180 80 -
H = ZRENFa BT 290 280 260 240 140 20
H S &AL ~HT 480 460 410 340 150 *
FAEEE R 930 890 790 630 300 30
BEZEE = HET - - - - - -
FEZEE T SHHT 270 260 240 200 120 30
R EARAN LS B ET 610 600 560 500 160 *
HEEZ AR HhAT 120 110 110 100 30 *
R E AR S )| BT 20 20 20 * * -
R A AR AHT 990 970 910 790 380 30
ELmdE X 20 10 * - - -
L X * * * - - -
ML ERERX 60 40 10 * - -
LR X 150 100 10 * -
B¥mHm 280 120 40 10 -
g EEFT 240 160 50 20 - -
BILR  wme 90 70 40 20 . .
fEaIm 80 70 30 - - -
HPAT 430 350 100 * - -
Ot 20 * * - - -
fERR BHT - - - - - -
EOER EHT - - - - -
Egﬁ;z 80 60 * - -
g LETREX * * - - -
L& LETEX 240 130 20 * -
LEMARX 30 20 * * - -
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%BJER.‘-TI;R% Tﬁ[zm]—*{t% 1cmll E 30cmEl E imBl E 2mPl E 5mil E 10mLL E
LEhTERX * * - - - -
LEMREILR - - - - - -
LETMEER 160 150 90 30 - -
LETEAR 20 10 * * - -
am 560 390 180 80 - -
migE™ 60 30 20 * - -
=& 110 80 30 20 - -
EEE$ 530 430 310 170 -

g {&W 420 290 140 50 - -

BER X 20 10 . ¥ _ _
HILE™ 30 20 10 * - -
HAmHTH 70 50 40 20 - -
IHE™ 210 160 90 40 - -
T E BT R T 20 10 * * - -
TEERE EHET 210 180 80 * -
= AR REET T - - - - - -
T ERYRET 30 20 * * - -
EHEKIE £ ST 100 90 70 30 - -
ki 410 290 110 20 -
FEbmh 90 50 20 * - -
M=k 170 100 50 20 - -
iliiatl 110 80 50 30 - -
T#™H 60 50 30 20 - -
=EH 60 50 30 20 - -
K 50 40 30 10 - -

WOR  dHH 260 210 130 50 - -
Erah 240 170 90 30 - -
WS /NEFETH 50 40 20 * - -
KEZEFHKEHET 300 260 160 60 - -
A3 AR FO A ET * * - - - -
AEEER_LRHET 60 60 40 20 - -
RE EETH A HEHT 50 40 10 * - -
AE B AR A HT 70 60 30 10 - -
mE™ 2,970 2,660 1,490 560 70 -
EeFymH 1,670 1,490 880 220 * -
INRETH 2,500 2,370 1,820 880 * -

mem fAIE 3,110 2,940 2,360 1,750 400 20

TN B ER AR A sy ET 200 200 180 160 60 *
B ERAR SR ET 480 460 420 370 280 90
IR AR E G ET 470 450 420 370 180 10
R EF AR AN S BT 960 810 370 100 * -
=i 740 480 130 10 - -
&S 200 150 100 50 * -
R TH 1,070 710 190 40 - -
BFH 170 130 70 30 - -
HhEM 350 290 150 10 - -

! EY VY el 110 80 20 * - -

e 370 290 140 50 - -
ING BB FERT 130 110 70 10 - -
INGER/NE BT 130 120 80 30 - -
B ENST) 90 80 50 10 - -
FEINERF 2 EHET 20 10 * * - -
it 2 EEER % BT 150 70 20 * - -
NI 750 600 290 80 * -

FTIER SA 1,020 810 400 180 * -
FHEM 600 570 480 360 40 -
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M =}

%BJER.‘-TI;R% Fﬁ[zm]—*{t% 1cmll E 30cmEl E imBl E 2mPl E 5mil E 10mLL E
J\FEET 220 210 180 150 40 -
FEET 720 540 250 70 * -
T 2,040 1,680 1,020 310 * -
KM 80 70 40 20 - -
Eamdit] 210 170 50 20 - -

ZRE MmEDRT 420 330 160 40 - -
ichedlii] 160 150 130 100 20 -
AT AR B ET 80 70 50 30 - -
% BRFLAITET 370 310 100 * - -
FEFFEMF A HET 190 180 150 110 30 -
EFENZ T 460 440 390 300 100 -
=301 3,150 2,880 2,140 1,090 120 *
EFRM 620 570 500 420 240 40
7= 470 430 360 260 80 *
EEF 1,080 1,020 800 480 70 *
TiET 420 390 330 250 110 *
Al 1,170 1,140 1,060 930 500 50
BEMH 990 970 920 830 230 *
TiEBKT 1,040 1,010 950 850 430 70
M5+ 240 220 180 130 50 10

=2HE &FETh 960 930 830 640 100 *
BB EHET 320 310 280 240 130 10
T=ERE 4 FET 150 150 120 80 30 *
L= E0 H ErHT 120 110 90 60 10 -
RE= AL HET 80 70 50 40 20 -
REEEF 60 60 50 40 20 *
= ARt {2 HT 460 450 420 380 240 20
= AR 5 AT 280 270 250 220 90 20
1% 2 AR K A BT 220 210 190 170 90 20
1% % AR 25 EH T 890 870 820 740 360 30
M mFgEI R 320 240 130 40 * -
dEAMm AR 90 70 20 * - -
dAamm/hEILRX 270 130 20 * - -
:H:;;%I;ﬂill\%ﬁilz 200 160 90 70 - -

N Y - 90 70 30 20 - -

Rl R L 10Dl 90 90 60 30 - -
FRARAR X FH BT 30 20 10 * - -
FELEAEE * * * * - -
& FE L EHRT - - - - - -
F AR LT 260 240 180 60 * -
K& 390 300 180 30 * -
R 310 240 140 30 - -
HRE™H 30 30 20 * - -
EEH 120 110 70 20 * -
Wimm™ * * * - - -

EIBFE HEWM 370 320 190 20 * -
itk =41 170 140 90 20 * -
EH 20 20 10 * - -
HEBERM 110 100 70 * - -
e EAN/IMEE BT 70 60 30 - - -
FMEENET L B EET 230 200 110 * - -

gkl REM 330 280 180 40 - -

TN REAEFEACET 20 10 * * - -
Kot 1,780 1,480 820 130 *

KR BIFFH 250 210 120 20 - -

e 60 40 * * - -
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e ‘
%BJER.‘-TI;R% Fﬁ[zm]—*-j-% 1cmll E 30cml £ 1mEl E 2mil b 5mil tE 10mEL E

#|m 1,770 1,690 1,400 890 240 *
FI¥FTh 450 430 330 170 * -
EARM 300 280 240 110 - -
2= HM 190 130 30 * - -
KR HEH 390 330 200 80 - -
FiE™H 320 210 40 * - -
EEH 260 210 120 50 - -
HEREESF 70 70 40 20 - -

R RERE BT 160 140 90 30 - -
=T 3,400 3,090 2,290 1,480 390 *
LR 1,920 1,710 1,310 930 400 *
HE™ 600 580 510 370 40 -
HrRH 1,830 1,750 1,520 1,250 250 *

=i | ESihhT 250 200 140 90 * -
T RGE S HRET 540 480 370 210 50 -
RS AR = BT 410 370 280 120 40 -
RZE0) | FaET 210 200 180 150 60 -
RiZERER = BT 320 300 280 250 130 *
BEIAFARFT) I ET 580 550 490 380 80 *
RERE™ 130 100 70 20 - -
BET 20 10 10 * - -

A E] 40 40 20 10 - -

fal AR T 100 90 70 30 - -
HK * * — - — -
bit=hitl 100 90 50 20 - -
mz &M 340 320 260 190 30 -
Tk 50 40 20 * - -
FEEE)IINTH 190 170 120 30 - -
HE&Em 80 70 50 20 - -
Z£EmH 20 20 10 * - -
WbEEEKREFH 80 70 50 20 - -
BEa O 210 180 110 40 - -
EmEh 350 310 220 130 -
EoE il 350 310 210 80 - -
EAM T 70 60 40 20 - -
wRM 30 30 10 * - -
EREHR=ZEH 20 20 10 * - -
EREE EREER+EH 140 130 80 20 - -
HKER K S HET 60 50 40 10 - -

B AR KU ET 140 120 80 40 - -
FrE#R R £ B HT 60 50 40 30 * -

I /& AR gL BT * * * * - -

FF & &R A KB ET 160 150 120 80 * -

FF /& AR B 1+ BT 210 200 170 120 10 -
REEBRhFEFHT 180 160 130 90 * -
REERNmfEFHT 170 160 120 80 * -
REEEFREAEHT 320 300 230 130 * -
KEBRKFF 30 30 20 * - -

K EBFIRA 40 40 20 * - -

X BB EEF NET 200 180 110 10 - -

X & BRAE SBRET 90 80 60 20 - -
KXERREFHE 440 370 220 60 - -
KXEBEZ EHT 80 70 50 10 - -

K B BB R L ET 60 60 30 * - -

K EERFLET 30 30 20 * - -

X EERFI;AHET 40 40 20 * - -
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%KJER.‘-TI;R% T‘ﬁ[Zlﬂ]'ﬁ'% 1cmll E 30cmEl E imBl E 2mPl E 5mil E 10mLLE
b[a%g_ K%EB?DEET 30 30 20 * - -
RPN ) 30 30 20 * - -
MEAT 20 10 * * - _
BEREH * * * - - -
AiETH 270 230 70 * - -
SEAT * * * - - -
HiE™ 140 120 60 * - -
Fimth 20 10 * * - —
pkET 40 20 * * - _
EREH 20 20 * * . -
25Fmh 90 80 40 * - -
EN=1-hil 190 160 90 10 - -
2k 50 40 20 * - -
ESEAEZE+T 140 100 50 * - -
ESEER K E R 40 30 10 * - -
ESEEEER D) 30 30 20 * - -
EEEAR S IRIZH 50 40 20 - - -
[E SEER A ERET 50 40 20 - - -
ESEEEHY =S L) 70 60 30 * - -
E AN E PR 20 10 * * _ -
%:g%g{%ﬁtﬂ 30 30 20 * - -

s g SHAMPILF 20 10 * - - -
AR ok 20 10 . _ - -
Hh BB AR 2= AN ET * * * - - -
hEE ARt A ET * * * * - -
FhEERR AL AT * * * - - -
FREEER IS 20 10 * - - -
h BB AR 75 R BT * * * * - -
E FRER 5 AR R BT * * * * - -
ERAEZEH 20 20 10 * - -
B R AR EE e kAT 50 40 20 * - -
ERAEHEF 20 10 * - _ _
EREERLEN * * * * - -
ERAEXEH 10 10 * * - -
ERERIL KREH * * * * - -
ERBFEEH 70 60 30 * - -
EREFERH 70 60 30 * - _
ERAAKEHR 140 110 50 * - -
ERER/\EERT * * * * - -
Nt E2=10ED) 50 50 20 * - -
I\NELET =BT 350 290 90 - - -
J\ZE LA} 5 1 [ BT 20 20 * - - -
— =KL
* D 1ONDA— LR
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2K E TR SKER SKEE SKEE SKEE KB
HERFRE | 2KE lcmblE | BIKE 30cmbl  BAGE ImBlE  BAKE 2mblE  BKESMLLE ZKE 10mlE
(NGB—)L) (NGB—)L) (NGB—)L) (NGB—)L) (NGB—)L) (nNGB—)L)
RIS 440 330 140 10 - -
FER 1,410 1,140 650 180 * -
B AR (X ER) 80 60 20 * * -
B AR (SIEER) 940 900 800 630 290 30
EE=JNN]Y 560 390 170 30 * -
el 2,690 2,270 1,460 870 80 -
AR 2,110 1,680 900 430 30
=58 8,660 7,390 4,620 1,870 190 *
PN 3,010 2,040 590 130 * -
EER 2,460 1,760 760 250 40 *
IR 8,240 7,540 5,670 3,530 740 *
i LU R 1,540 1,060 380 70 * -
LER 2,990 2,190 1,120 480 *
wAg 2,360 1,730 900 360 *
wmEE 11,320 10,110 6,640 3,210 580 10
FIE 4,050 2,970 1,210 330 * -
ZiRE 7,000 5810 3,460 1,800 380 *
=yl 16,580 16,110 14,720 12,380 6,450 1,260
EEE 1,430 1,060 560 250 * -
RIBE 2,120 1,750 1,040 190 * -
REERE 450 400 280 60 - -
KB 6,410 5,650 3,850 1,880 290 *
HiFE 9,290 8,420 6,560 4,620 1,230 70
ERER 5,350 4,780 3,460 1,820 140 *
TPRER 2,400 1,950 920 90 - -
a5t 103,900 89,510 60.890 35,480 _10.430 1,380
—2KEL
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e i

%BJER.‘-TI;R% FHIZET*T% 1cmll E 30cmEl E imBl E 2mil E 5mil E 10mEL E
KE™ * * * - — —
Him 60 40 10 - - -
HEEXET - - - - - -
=4 10 * * - - -
| 3457 20 10 * * - -
(03 ==Y~¥:))i7] 20 20 * * - -
TEE  EEIETH 50 40 20 * - -
=B il - - - - - -
i 150 110 40 * - -
$8M@™ 60 60 40 * - -
BRI AR e 3k BT * * - - - -
BRI AR K L ET 60 40 10 * - -
AR ER R AT * * * - - -
FERPER 20 10 * * - -
FEHRERIIX * * * — _ _
FERRER - - - - - -
FERTEER - - - - - -
FTEMEEX 20 20 * - - -
B 60 40 30 20 - -
Ml 30 20 * * - -
AAETH 10 * * * - -
gELLTH 200 140 60 20 - -
AREZEM 90 60 20 * - -
WRE™ * x - — _ _
EE™ * x * — _ _
HEem * * * - - -
fETH 70 70 40 * - -
BoEm * * * - - -
A 50 50 30 * - -
MR 20 10 * * * -
" S
T 100 90 60 10 - -
TRR i T il - - - - - -
BiEm * * * * _ _
== 1431 100 80 50 * - -
AEm 10 10 * * - -
e el * * * - - -
EERT 150 140 90 30 * -
MEETH 20 20 10 * - -
WE 70 60 40 * - -
WIHH 60 50 20 * - -
F I AR B BT - - - - - -
KB E™ 30 20 10 * - -
WK E A+ L EHRT 90 80 40 10 - -
L R4 2 S BT 50 40 20 * - -
RER—=H 30 20 10 * - -
&4 BRBE R BT * * * - - -
RAEMEEH 20 20 * * - -
REE B FHE 50 40 20 * - -
BB PR AR 15 BT 20 20 10 * - -
=B AR SR m BT 20 20 10 * - -
- X * * * - - -
a HEX - - - - - -

XHREX
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BEREX * ™ * - = =
=HRX * * * - - -
IERX 10 10 * - - -
X * * * _ _ _
HERX - - - - _ _
KHEEX 20 20 * * -
HE# HEASRX - - - - _ _
(XED) X - - - - _ _
E2EX - - - - _ _
X * * * - _ _
X * * * - _ -
RIIX * * * - _ _
BERX * * - _ _ _
IR 10 * * - — _
KXEBTKEH 40 40 30 10 - -
F ST EFT * * * * - -
HEMNFEH 50 50 40 20 - -
Tt HEEFHEEN 40 30 30 10 - -
() —TH=EH 70 60 50 30 * -
SR BB EN 10 * * * - _
J\ CHET/J\SCHET 80 80 60 40 * -
BErEFNErEMN * * * * * -
INERFINERF 630 610 570 500 290 30
HWEMERX 40 20 * * - -
BERMHEIIIX 50 20 * * - -
HEMAX 30 20 * * _ _
HEmPRX 10 * * * - -
HEEmmX * * - - - -
BEMRLIYYARX * * - - _ _
HWEMEFX * * * - _ _
BEMERX 20 10 * - _ _
HEmAILX * * _ _ - -
N )| X 30 20 * * - -
NgHERX - - - - _ -
I e I T I
z= =] JIE %7 Iz - - - - - -
#RNR wamm 110 70 30 * - -
i * * * - - -
gma™ 20 20 20 * -
R ™ 30 20 10 * - -
INBIRTH 20 10 * - — -
Fo 5 10 10 * * _ -
E¥mh 20 10 * * - —
=#m 120 100 60 * - -
= AEREE LA 10 10 * * - -
F BB K B ET 10 * * - — _
AR = HT * * * - — _
BT AR E#SHT 10 * * - _ _
AT &R R BT * * * - _ _
miET - - _ Z . ~
EEHERX - - - - _ _
FRE T BRI X 60 50 40 30 * -
FEE  FBEWEKR 210 140 50 10 * -
AT X * * - - _ _
ERMTERR - - - - - -
ENTHRERX 210 190 130 90 * -
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%BJE}T‘-TI;R% Fﬁ[zm]-*:f% 1cmll E 30cmEl E iml E 2mil E 5milE 10mLLE
ERTER 210 190 140 100 * -
AR 40 30 * - - -
ERTESER - - - - - -
BiE™ 150 130 70 10 - -
BiEmh 10 10 * * - -
=B - - - - - -
FE™ 20 20 10 * - -
EHM - - - - - -
EtH 30 30 * - - -
M 140 120 80 40 - -
T 420 310 150 60 * -
#i 90 80 70 50 * -
=353l - - - - - -
2%#$ 60 50 40 30 * -
e FH 80 70 50 20 - -
RRIE R o sk vl 140 130 100 70 * -
FEH 20 20 * * - —
fEN AT T 300 280 210 140 40 -
il - - - - - -
FEOEM - - - - - -
WzRm 290 240 180 130 20 -
BRAEFEE 20 10 * * _ -
B R AR ERT 10 * * * _ -
B AR R 50 40 30 20 - -
B % BRI ET 20 20 10 * * -
EXRANRFEET 40 30 20 * - -
H 75 ZREr Eg T - - - - - -
EL R AR A KET - - - - - -
EL R AR R SR ET - - - - - -
ERANS HET 80 70 50 20 * -
LEETTFER - - - - - -
Z2EETMRER - - - - - -
L2EEMHIER - - - - - -
LEERAR - - - - - -
LEETFFE - - - - - -
Z2EEMHFR - - - - - -
L HETHBIX - - - - - -
Z2EEMRER * * * * - -
ZEEMHER - - - - - -
HEEHTHIIIRX * * * * - -
HEEHERX 280 200 70 30 * -
HEETERX 20 20 10 * - -
B8 LEEHRSFILER - - - - - -
T AOEMRKEX 60 50 10 * - -
LEETRAR - - - - - -
=SE™H 130 110 80 60 * -
*HH 80 50 10 * - -
E=d=E;ait) - - - - - -
2T 30 20 10 * - -
ZBEmH - - - - - -
E2@Emh 50 40 20 10 * -
X &H 30 20 10 * - -
=TT - - - - - -
FE™ 300 260 100 40 - -
SEART 120 90 40 * - -
wiEm 100 80 30 * - -
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NG - - - - = -
¥ 130 90 30 * * -
KiFth % * % - - -
v EAt] 20 20 10 * - -
3L - - - - - -
=k 20 10 * * - -
4z I1] - - - - - -
HIEH 390 350 280 180 20 -
e} * * - - - -
AZA™ * * * - - -
t&EE™ - - - - - -

EBEHME WMEM 70 40 20 * - -
HEH % * % - - -
A& HHERE LET - - - - - -
EERER K HET * * * - - -
EERAREE TR - - - - - -
EERER TR B AT 60 40 20 * - -
%N % BRBI A LLET * * * - - -
%0 % AR SR HET 20 20 10 * - -
%2 B FAE0 S HT 120 120 70 30 - -
yIEZ ) 30 30 20 10 - -
FNZE K EMT 30 * * * - —
%6 H AR Sz HET - - - - - -
b= 4371} 710 500 170 50 * -
mAmH 240 130 30 10 - -
FEH 2,120 1,860 1,100 170 * -
N 1,640 1,310 630 110 - -
4 20 20 10 * - -
foEE™h 70 60 30 * - -
BEmH 350 330 260 190 20 -
B3 430 400 330 200 10 -
REFrh 150 150 130 100 30 *
WERTH - - - - - _

=8B SEM 1,060 950 700 370 60 *

= RABAKE UHET * * * * - -
EF AR EHT - - - - - -
=EEREA A HE * * * * - -
= EFB)IF5ET 40 30 20 * - -
% KERBAFOET 710 630 350 70 - -
ESE E AT - - - - - -
EES A KICHET 30 30 30 20 * -
EL AR 560 520 440 290 10 -
& EZE AT 400 360 280 200 30 -
B & £ AR R AT 80 80 70 60 10 -
FEEECER 50 30 20 10 * -
K& B X - - - - - -
KirFREERX - - - - - -
KirmttfEX 90 80 50 30 - -
KR - - - - - -
RKIEMHERX 20 10 * * - -

KBRFF KRR RER 40 20 * * * -
AEHREFR - - - - - -
KERARER - - - - - -
KIrmdEEIIX 10 10 * * - -

RBRrTERIE) X

RBRATERA R
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B T8 X BT 4
%BJER:TI;R% FHEET*T% 1cmll E 30cmEl E iml E 2mil E 5milE 10mLLE

AirmEFX -

KB fE X

RBRrTE R R

KB riffE EF X

REAES X

REEHRESTE

RBrida X

KBl X

I S I I R B |
I S I I R B |
I S I I I O B |

REMEERR

RKIERH{EFEZIX 290

KB FEFX -

KBt X -

N
I I et O R N O R B B
o
(=23
o
—_
o

ABRiTRREX -

RHREX 470 290 60

R X

R 610 400 80
BHERX -

L% L% 11 )1

AR

FMES 270 180 60

—_
o

it - - -

DXEEFE * * *

RKEH 350 270 70

KIRF 5Lkt

Bixw 90 70 30

AT - - _

M7 - - -

KA - - _

JNETh - - -

RIEHH 70 40 20

BRI

NG

XE

MR

Hmm

R

FiET

EiEm

=A™ 540 320 60

EHEH - - -

L PN - - -

RE™ 30 30 20

Pu{EBE T - - -

M 20 20 10

SRAL AR B [ BT 50 30 *

SR EI AR AE HR BT - - _

SR AR H R ET 10 * *

SR A AR I ET 20 20 20

HMPHMERE#EX 300 210 40

HPEM#X 10 * *

#HEFTEER 250 220 140

#HEFMmEARKX * * *

p
T
Sm

HPETHEERX 10 10 *

5 T E KX * * *

MAE I X - - -

I o e e Y I A
e e O O Y O Y O

R R SR SR SR N SR R I B o T I T N T N I A B O R B N B IR

HEHmHRRX 240 160 60
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P mPa X - - - - - -
Y] 60 50 20 * - -
El&H 270 190 60 20 - -
BAAET™T 20 20 * - - -
mEH 640 410 120 30 -
NAT 120 80 40 20 - -
EEH‘T * * * * - —
Eikwdiil - - - - - -
HE™ 10 * * * - -

=l 10 * * * -

RER riEm 40 30 10 * - -
ES2 4] - - - - - -
=it 20 * * * — _
JIlFE™H - - - - - -
mEHHLHm 320 260 190 150 30 *
g™ 100 70 30 * - -
=2Mt 10 10 * — - -
hney R A SSET - - - - - -
hney AR HE EE BT * * * * - -
1B R ER K F-HT - - - - - -
FEIIGG 2,440 2,100 1,220 370 * -
Emm 650 630 530 380 * -
EH™ 210 170 100 40 * -
#hHh 660 610 490 350 80 -
Hidmh 750 720 630 480 150 -
F=Em 90 80 60 40 * -
F HARZXHET 150 140 100 50 * -
E AL BT 210 200 180 130 * -
SF=%EE ) 370 340 250 140 40 -

N =t =) 170 160 130 110 40 *

LA HSEH B HT 200 190 180 160 40 -
H = ZBEN R AT 190 180 150 120 30 *
H S &AL ~HT 210 200 160 120 40 -
FAEER KR 560 530 430 320 110 *
BEZEE = HET - - - - - -
FEZEE T SHHT 170 160 140 100 40 -
R EARAN LS B ET 410 390 320 190 20 -
HEEZ AR HhAT 80 80 60 30 * -
HEZAHEE)IET * * * * - -
R A AR AHT 710 660 550 400 130 *
ELmdE X 20 10 * - - -
L X * * * - - -
ML ERERX 70 50 20 * - -
EILHEX 190 120 10 * -
B¥mHm 310 130 40 10 -

e EET 270 190 70 20 - -

LR LT 100 70 40 20 - -
fEaIm 100 80 30 * - -
BMEA™ 450 400 160 10 - -
O 20 * * - _ .
fERR BHT - - - - - -
EOER EHT - - - - -
Egﬁ;z 70 60 * - -

g LETREX * * - - -

L& LETEX 220 120 20 * -

LEMARX 30 10 * * - -
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LEhTERX * * - - - -
LEMREILR - - - - - -
LETMEER 160 150 90 30 - -
LEEMERR 20 * * * - -
am 580 390 180 70 - -
migE™ 60 40 20 * - -
=& 130 90 40 20 - -
EEE$ 560 460 330 180 -
g {&W 490 330 150 60 - -
BER X 20 10 . . _ _
HILE™ 30 20 10 * - -
HAmHTH 60 50 30 10 - -
IHE™ 220 180 90 40 - -
T E BT R ET 20 10 * * - -
TEERE EHET 200 180 70 * -
= AR REET T - - - - - -
T ERYRET 30 20 * * - -
EHEKIE £ ST 80 70 50 30 - -
TRE™ 430 300 110 20 -
FEbmh 90 40 20 * - -
=k 230 130 60 20 - -
iliiatl 120 90 50 30 - -
T#™H 70 60 40 20 - -
=EH 50 50 30 10 - -
K 60 50 30 20 - -
WOR  dHH 330 250 150 70 - -
Bt 360 250 110 40 - -
WS /NEFETH 50 40 20 * - -
KEZEFHKEHET 310 270 180 70 - -
A3 AR FO A ET * * - - - -
AEEER_LRHET 70 60 40 20 - -
REEENHEmiEAT 90 60 20 * - -
AE B AR A HT 110 90 50 20 - -
mE™ 2,600 2,150 1,130 390 * -
EeFymH 1,650 1,440 770 160 * -
INRETH 2,290 2,110 1,470 310 * -
melm FEH 2,900 2,710 2,120 1,570 260 *
TN B ER AR A sy ET 180 180 160 140 30 *
B ERAR SR ET 370 350 310 280 170 *
B ERER B REET 430 410 380 330 110 *
R EF AR AN S BT 910 760 300 30 * -
=i 1,150 820 210 30 - -
H&EF 210 160 100 50 * -
R TH 1,060 700 200 40 - -
BFH 170 140 60 30 - -
SHhETh 370 310 190 30 - -
! -9y oXi] 80 60 20 * - -
~ == 370 300 140 50 - -
ING BB FERT 150 130 80 20 - -
INGER/NE BT 190 170 120 60 - -
B ENST) 100 90 50 20 - -
FEINERF 2 EHET 20 10 * * - -
it 2 EEER % BT 160 80 20 * - -
NI 690 540 240 60 * -
FTIER SA 870 680 330 130 * -
FHEM 700 660 560 450 110 -
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J\FEET 240 220 200 160 60 -

FEET 640 480 200 40 * -

T 1,870 1,500 820 240 * -

KM 80 70 40 20 - -

Eamdit] 200 150 40 20 - -

ZRE MmEDRT 390 300 140 40 - -
Ficit] 150 140 120 90 20 -

AT AR B ET 70 70 50 30 - -

% BRFLAITET 350 290 80 * - -
FEFFEMF A HET 180 170 140 100 20 -
EFENZ T 550 530 480 410 170 *

=301 3,830 3,690 3,150 2,090 280 30

EFRM 740 700 610 500 300 60

T= 890 860 790 650 320 30

EEH 1,580 1,540 1,410 1,190 330 20

TiET 510 510 490 430 230 20

Al 1,460 1,440 1,380 1,270 820 140

BEH 1,220 1,210 1,160 1,090 790 50
TiEBKT 1,180 1,160 1,110 1,040 740 250

mA+h 490 440 360 290 140 60

=R EBETH 1,290 1,260 1,170 1,060 570 10
R ERER T 290 280 250 210 100 *

T AR E - FIHT 210 200 180 160 50 *

L= E0 H ErHT 140 140 130 110 20 *

R = ER % HHET 180 170 140 80 30 *

R =T A 190 170 130 80 40 *

= 8 AR A £ { BT 610 590 570 530 410 150

= [EERE 5 + T 330 320 320 310 260 80

1% 2 &R K A BT 240 230 210 190 110 10

1% 22 AF 2 ET 1,200 1,180 1,150 1,100 910 330

M mFgEI R 310 230 120 40 * -
dEAMm AR 90 70 20 * - -
dAamm/hEILRX 270 140 20 * - -
:H:;;%I;ﬂill\%ﬁilz 260 190 100 70 - -

=rmE  (Tha 100 70 40 20 - -
Rl R L 10Dl 100 90 70 40 - -
FRARAR X FH BT 30 20 10 * - -
FELEAEE * * * * - -

£ AR EER - - - - - -

F AR LT 260 240 170 60 * -

K& 530 410 220 50 * -
R 370 280 160 40 * -

HRE™H 40 30 20 * - -

EEH 130 110 70 20 * -

Wimm™ * * * - - -

EIBFE HEWM 420 370 230 20 * -
[ich 03] 190 160 100 30 * -

EH 30 20 10 * - -
HEBERM 110 100 70 * - -

e EAN/IMEE BT 70 60 40 * - -
FMEENET L B EET 230 200 120 * - -

gkl REM 440 390 270 60 - -
TN REAEFEACET 20 20 10 * - -
Kot 1,940 1,640 830 150 * *

KR BIFFH 310 290 200 60 * -
e 60 50 20 * - -
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#|m 1,880 1,820 1,630 1,160 280 -
FI¥FTh 490 470 380 210 * -
EARM 300 280 230 90 - -
2= HM 180 120 30 * - -
KR HEH 390 330 200 80 - -
FiE™H 330 210 50 * - -
EEH 260 210 120 50 - -
HEREESF 70 60 40 20 - -
R RERE BT 190 170 120 60 - -
=T 2,930 2,590 1,840 1,200 360 50
LR 1,780 1,580 1,210 860 330 *
HE™ 870 820 720 550 120 *
HrRH 1,600 1,510 1,290 990 180 *
=i | ESihhT 490 430 330 220 50 *
T RGE S HRET 360 290 200 120 30 -
RS AR = BT 320 280 180 70 30 -
IRSER) | Ea BT 180 170 140 110 40 -
RiZERER = BT 270 260 240 200 60 -
BEIAFARFT) I ET 500 480 410 290 40 -
RERE™ 120 100 70 20 - -
BET 20 10 10 * - -
A E] 60 50 30 20 - -
fal AR T 120 100 80 40 - -
HK * * - - — -
bit=hitl 110 90 50 20 - -
mzEm 380 360 300 220 60 -
Tk 50 40 20 * - -
FEEE)IINTH 210 180 130 40 - -
HEH 90 80 50 30 - -
Z£EmH 20 20 10 * - -
WEZEEKRFH 90 70 50 30 - -
BEs2Fm 260 210 130 60 * -
EmEh 410 380 300 180 * *
=EF 410 370 270 130 - -
EAM T 70 70 50 30 - -
wRM 30 30 10 * - -
EREHR=ZEH 20 20 10 * - -
EREE EREER+EH 150 130 90 30 - -
HKER K S HET 70 60 50 20 - -
B AR KU ET 210 170 120 70 * -
FrE#R R £ B HT 90 80 70 50 * -
I /& AR gL BT * * * * - -
FF & &R A KB ET 170 150 130 90 * -
FF /& AR B 1+ BT 280 260 220 170 40 -
REEBRhFEFHT 170 160 130 90 * -
REERNmfEFHT 200 180 140 100 * -
REEEFREAEHT 360 340 270 170 * -
KEBRKFF 30 30 20 * - -
K EBFIRA 50 40 30 * - -
X BB EEF NET 220 200 130 30 - -
X & BRAE SBRET 100 90 70 40 - -
KXERREFHE 470 420 260 90 - -
KXEBEZ EHT 90 80 50 10 - -
K B BB R L ET 70 60 30 * - -
K EERFLET 30 30 20 * - -
X EERFI;AHET 40 40 20 * - -
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b[a%g_ K%EB?DEET 30 30 20 * - -
IR KBRS SRET 30 30 20 * - -
MEAT 20 20 * * - _
BEREH * * * - - -
AiETH 280 240 80 * - -
b pr ] 10 * * * - -
HiE™ 190 160 100 20 - -
Fimth 30 20 * * - —
pkET 60 30 * * - _
EREH 20 20 10 * - -
25FmH 110 90 50 * - -
EN=1-hil 210 180 100 20 - -
2kl 60 50 20 * - -
E3EEESESEIEE ) 140 100 40 * - -
ESEER K E R 40 30 20 * - -
ESEEEER D) 30 30 20 * - -
EEEAR S IRIZHT 60 50 30 * - -
[E SRR A ERET 60 40 20 * - -
ESEEEHY =8 AL 70 60 30 * - -
[ESEERE BFREEHS 20 20 10 * - -
Il%:ggg{%ﬁtﬂ 40 30 20 * - -

N g SHAMPILF 20 10 * - - -
ARR ok 20 0 . _ _ -
th BB AR == AN ET * * * - - -
FhEEERIL A ET 10 * * * - -
FhEERR AL g AT * * * * - -
FREEER I AT 20 10 * - - -
rh 5B A 75 R BT * * * * - -
E RER 5 AR R BT * * * * - -
EREREZEH 30 20 10 * - -
B R AR EERE R AT 50 50 30 * - -
ERMEHF 20 10 * - - -
ERBELEN * * * * - -
ERAEKXEH 10 10 * * - -
ERERIL KREHF * * * * - -
ERBFEEHR 70 60 40 * - -
ERFFRAH 80 70 30 * - _
ERAAKER 140 120 50 * - -
EREN/\ESERT * * * * - _
Nt E2=10ED) 60 50 30 * - _
J\NELET =BT 370 300 100 * - -
J\ZE [LIAR 5 Hi [= BT 20 20 * - - -
— =KL
* 10D A— LR
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2K E TR SKER SKEE SKEE SKEE KB
HERFRE | 2KE lcmblE | BIKE 30cmbl  BAGE ImBlE  BAKE 2mblE  BKESMLLE ZKE 10mlE
(NGB—)L) (NGB—)L) (NGB—)L) (NGB—)L) (nNDB—)L) (nNDB—)L)

RIS 530 410 190 30 - -
FER 1,560 1,290 730 230 * -
B AR (X ER) 70 50 20 * * -
B AR (SIEER) 1,010 970 860 690 380 80
EE=JNN]Y 490 360 170 30 * -
ER[E R 2,760 2,340 1,490 870 80 -
IR 2,060 1,640 900 430 40 -
=58 10,160 8,630 5,390 2,250 270 *
PN 2,560 1,650 440 110 * -
EEE 2,080 1,440 610 220 * *
IR 8,080 7,360 5,590 3,750 890 100
i LU R 1,620 1,130 420 70 * -
LEE 3,020 2,220 1,140 500 * -
wAg 2,640 2,000 990 390 * -
wmEE 10,300 9,070 5,530 2,410 270 -
EFNE 3,780 2,770 1,160 330 * -
ZiRE 7,710 6,470 4,000 2,210 730 30

=13 16,340 15,770 14,260 12,000 6,930 1,940
EEE 1,410 1,060 570 250 * -
RIBE 2,300 1,910 1,160 240 * -
REERE 510 450 310 80 - -
KRB 7,030 6,250 4,650 2,790 610 50
HiFE 11,810 11,050 9,180 6,610 2,140 80
ERER 6,390 5,720 4,320 2,560 310 *
TPRER 2,620 2,100 1,000 130 - -

&t 108,850 94,100 65,070 39,180 12,690 2,290

—2KEL
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KE™ * * * _ — -
Hirm 60 50 20 * - -
HEEXET - - - - - -
=k 10 * * - - -

| 3457 20 10 * * - -
Of=BHhTH 20 20 * * - -
TEE  EEIETH 60 50 20 * - -
=B il - - - - - -
i 210 160 80 20 - -
$8M@™ 60 60 40 * - -
BRI AR e 3k BT * * - - - -
BRI AR K L ET 60 50 10 * - -

AR I AR B AT * * * - - -
FERPER 10 * * * - _
FEHRERIIEX * * * - - -
FERWRER - - - - - -
FEREER - - - - - -
FERXER 20 20 * - - -
k¥ 90 70 40 20 - -
i 20 20 * * - -
fntE™ * * * * - -
G 240 200 90 30 - -
AREZEM 70 50 10 * - -
WETH * * - - - -
3] * * * - - -
R&Eh * * * - - -
NETH 80 70 40 * - -
BEHH * * * - - -
] 60 50 30 * - -
R 10 10 * * * -
i T T

o EE 100 90 70 20 - -
TRAE Bya™ - - - - - -
Ei#Eth * * * * - -

=9 457 90 70 40 * - -
AR 10 10 * * - —
#Wrimm™ * * * - - -
EERT 170 150 100 40 - -
MEETH 20 20 * * - -

WE 70 70 40 20 - -

W HH 60 50 30 * - -

FE AR B BT - - - - - -
KB E™ 20 20 * * - —

WK E A+ L EHRT 100 80 60 20 - -

L AR s S ST 40 30 20 * - -
REA—=H 90 60 20 * - -

R4 BRBE R BT * * * - - -
REAEMEEH 60 40 20 * - -
REE B FHE 50 40 30 10 - -

BB PR AR 15 BT 20 20 10 * - -

=B AR SR m BT 20 20 10 * - -
j;{;EEIIZ * * - - - -

= X * * * - - -
T Bk X 8 : - - -
8 HERX - - - - - -

XHREX
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IREX 10 * * - - -
X * * * - - -
HERX - - - - - -
KHEEX 20 20 * * —
HE# HEASRX - - - - - -
(RER) X - - - - - -
E2EX - - - - - -
X * * * - - -
FIE * * * - - -
RIIX * * * - _ _
B * * - - - -
IR 10 * * - - -
KXEBTKEH 40 40 20 * - -
F ST EFT * * * * - -
HEMNFEH 50 50 40 20 - -
HETH HEEFHEEN 40 30 30 10 * -
(%Eﬁinm EEE':*;J-EEE*;J- 60 60 40 30 * -
SR BB EN * * * * - -
J\ CHET/J\SCHET 80 70 60 40 * -
FrENBrER * * * * * -
INERFINERF 700 690 640 570 380 80
HWEMERX 20 10 * * - -
HEmARIIIEX 20 10 * * - -
HEMAX 10 * * * - -
EEMHPRX * * * * - -
HEEHmEX * * - - - -
BERREIY AKX * * - - - -
HWEMEFX * * * - - -
HWEMERE 20 * * - - _
HEEHmEILX - - - - - -
N )| X 20 10 * * - -
NgHERX - - - - - -
z< =H “ B Ehl/ IZ - - - - - -
IR HMAET 120 80 30 * - -
i * * * - - -
2 3=Mitl 30 20 20 * -
R ™ 30 20 10 * - -
INBIRTH 20 10 * - - -
Fo 5 10 10 * - - _
EFh 30 20 * * - _
=@h 110 90 50 * - -
= AEREE LA 20 10 * * - -
F BB K B ET 10 * * - - —
AR — = HT * * * - - -
BT AR E#SHT 10 * * - - -
AT &R R BT * * * - - -
miET - - - - - -
BREHEX - - - - - -
R X 60 50 40 30 * -
FBER  BETHEKRX 320 240 90 10 * -
AT X * * - - - -
AERTHEE - - - - - -
ENTHRERX 210 180 120 80 * -
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ERTER 210 190 140 100 * -
ENTHIERX 30 20 * - - -
ERTESER - - - - - -
BiE™ 150 120 70 10 - -
BiEmh 10 10 * * - -
=B - - - - - -
FE™ 20 20 10 * - -
EHM - - - - - -
EtH 40 30 10 - - -
M 170 140 100 60 * -
T 370 270 130 60 * -
#i 80 70 60 40 * -
=353l - - - - - -
2%#$ 60 50 40 40 * -
e FH 80 70 50 20 - -
PRI R o sk vl 140 130 90 70 * -
FEH 20 20 * * - —
fEN AT T 300 290 230 150 40 -
il - - - - - -
FEOEM - - - - - -
WzRm 280 240 180 120 20 -
BRAEFEE 10 10 * * _ -
B R AR ERT * * * * - -
B AR R 50 50 30 20 - -
B % BRI ET 20 20 10 * * -
EXRANRFEET 40 30 20 * - -
H 75 ZRErI Eg T - - - - - -
EL R AR A KET - - - - - -
EA AN R R ET - - - - - -
ERANS HET 80 60 40 20 * -
LEETTFER - - - - - -
LEETRR - - - - - -
L2EEMIR - - - - - -
LEERAR - - - - - -
LEETFFE - - - - - -
LEETHFR - - - - - -
L HETHBIX - - - - - -
Z2EEMRER * * * * - -
ZEEMHER - - - - - -
HEEHTHIIIRX * * * * - -
HEEHERX 240 170 60 20 * -
HEEHTERX 20 10 10 * - -
B8 LEEFRSFILER - - - - - -
T AHEMEE 50 40 * * - -
LEETRAR - - - - - -
=SE™H 130 110 80 60 * -
FHE™H 80 50 10 * - -
EBH™ - - - - - -
2T 20 20 10 * - -
ZBEmH - - - - - -
E2@Emh 50 40 20 10 * -
X &H 30 20 10 * - -
=TT - - - - - -
mEM 290 240 100 30 - -
AR 110 80 30 * - -
wiEm 150 110 50 10 - -

37




7 =20 HXET# AEKETE

=IKER(NIE—IL) [RKRE]

> B

%BJER.‘-TI;R% Tﬁ[zm]—*{t% 1cmll E 30cml £ 1mEl E 2mil b 5mil tE 10mEL E
NG - - - - = -
¥ 110 80 20 * * -
NGzl * * * - - -
v EAt] 20 20 10 * - -
3L - - - - - -
=T 10 * * * - _
4z I1] - - - - - -
HIEH 400 370 290 200 40 -
gLtk * - - - - -
AZA™ * * * - - -
t&EE™ - - - - - -

EBEHME WMEM 60 40 20 * - -
hE™ * * * - _ .
A& HHERE LET - - - - - -
EERER K HET * * * - - -
EERAREE TR - - - - - -
EERER TR B AT 50 30 20 * - -
%N % BRBI A LLET * * * - - -
%0 % AR SR HET 20 20 10 * - -
%2 B FAE0 S HT 140 130 80 30 - -
yIEZ ) 30 30 20 10 - -
MZEAH = HT 20 * * * _ -
%6 H AR Sz HET - - - - - -
BT 1,510 1,110 370 90 * -
mAfTH 240 140 30 10 - -
REH 2,250 1,980 1,210 200 * -
NG 1,690 1,370 720 130 - -
4 20 20 10 * - -
foEE™h 80 60 30 * - -
EET 380 350 290 220 60 *
EPH 520 470 370 260 * -
REFrh 170 170 150 130 50 *
WERTH - - - — _ _

=8B SEM 1,200 1,060 790 430 60 *

= RABAKE UHET * * * - - -
EF AR EHT - - - - - -
—EFE A * * * * - -
= EFB)IF5ET 40 30 20 * - -
% S AREAFNET 810 710 470 130 * -
ESE E AT - - - - - -
EES A KICHET 30 30 30 20 * -
EL AR 580 550 460 300 20 -
& EZE AT 440 400 310 220 40 -
B & £ AR R AT 110 100 80 70 30 -
FEEECEH 90 70 40 20 * -
K& B X - - - - - -
KirFREERX - - - - - -
KirmttfEX 100 80 50 30 - -
KR - - - - - -
RKIEMHERX 20 10 * * - -

KBRFF KRR RER 40 20 * * * -
AEHREFR - - - - - -
KERARER - - - - - -
KIrmdEEIIX 10 10 * * - -

RBRrTERIE) X

RBRATERA R
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P mPa X - - - - - -
Y] 70 50 20 * - -
[EWET™ 240 150 50 20 - -
AT 20 20 * - - -
EEm 530 330 110 20 -
MATH 80 60 40 10 - -
EEt * * * * - -
Eikwdiil - - - - - -
HET 10 * * * - _
RER riEm 40 30 10 * - -
ES2 4] - - - - - -
=it 20 * * - - _
JIlFE™H - - - - - -
mEHHLHm 310 240 180 140 *
g™ 60 40 20 * - -
=2Mt 10 10 * — - -
e AR FE S ET - - - - - -
hney AR HE EE BT * * * * - -
EERAATFHE - - - - - -
FEIIGG 2,220 1,870 980 310 * -
Emm 630 580 470 320 * -
EH™ 180 150 100 40 * -
#hHh 490 450 350 230 30 -
HiZH 720 680 580 440 80 -
F=Em 120 110 80 60 10 -
F HARZXHET 100 80 50 20 * -
E AL BT 170 160 130 70 * -
SF=%EE ) 240 210 150 100 40 *
N =t =) 120 110 100 70 10 *
LA B= 0 BT 180 170 150 120 * -
H = ZBEN R AT 170 160 140 120 40 *
H S &AL ~HT 200 180 150 110 40 *
FAEER KR 700 650 540 410 140 *
BEZEE = HET - - - - - -
AR EE T IHHT 320 310 300 270 180 50
R EARAN LS B ET 520 500 440 350 50 -
REZEAHMET 90 80 60 40 * -
HEZAHEE)IET 10 * * * - _
R A AR AHT 900 870 790 680 270 40
ELmdE X 20 10 * - - -
AT sl = * * * - - -
ML ERERX 80 60 30 * - -
EILHEX 210 120 10 * -
B¥mHm 350 150 40 10 -
e EET 280 200 70 20 - -
BILR  wme 90 70 40 20 . .
fEaIm 100 80 30 * - -
BMEA™ 460 420 190 10 - -
O 30 * * - _ .
fERR BHT - - - - - -
EOER EHT - - - - -
Egﬁ;z 70 60 * - -
g LETREX * * - - -
L& LETEX 190 100 20 * -
LEMARX 20 10 * * - -

40




7 =20 HXET# AEKETE

=IKER(NIE—IL) [RKRE]

S =}

%BJER.‘-TI;R% Tﬁ[zm]—*{t% 1cmll E 30cml £ 1mEl E 2mil b 5mil tE 10mEL E
LEhTERX * - - - - -
LEMREILR - - - - - -
LETMEER 160 140 90 30 - -
LEEMERR 20 * * * _ -
am 580 390 180 80 - -
migE™ 70 40 20 * - -
=& 180 110 40 20 - -
Eiﬁ?ﬁ 580 470 340 190 -

o fElTh 500 350 160 60 - -

BER X 20 10 . . _ _
HILE™ 30 20 10 * - -
HAmHTH 60 50 30 10 - -
IHE™ 220 180 100 40 - -
T E BT R ET 20 10 * * - -
TEERE EHET 200 170 60 * -
= AR REET T - - - - - -
T ERYRET 20 10 * * - -
EHEKIE £ ST 80 70 50 30 - -
TRE™ 390 280 90 20 -
FEbmh 100 50 20 * - -
=k 230 130 60 20 - -
iliiatl 130 90 50 30 - -
T#™H 80 60 40 20 - -
=EH 50 50 30 10 - -
K 70 50 40 20 - -

WOR  #HH 420 360 180 80 - -
Erah 470 330 120 50 - -
WS /NEFETH 50 40 20 * - -
KEZEFHKEHET 320 290 190 70 - -
AT BR A0 A ET * * - - - -
AEEER_LRHET 70 60 50 20 - -
RE EETH A HEHT 120 90 30 * - -
AE B AR A HT 140 110 60 20 - -
mE™ 2,440 1,990 1,010 310 * -
EeFymH 1,470 1,300 580 90 * -
INRETH 2,130 1,950 1,220 170 * -

melm MEH 2,730 2,540 1,950 1,380 200 -

TN i ER AR A sy ET 150 150 130 110 20 -
B ERAR SR ET 220 210 190 150 20 -

7B BB AR B P ET 310 290 240 180 30 -

R EF AR AN S BT 850 650 210 20 - -
=i 1,040 720 200 30 -

AE™ 170 130 90 40 -

R TH 1,020 670 190 40 - -
BFH 150 120 60 30 - -

SHhETh 380 320 190 30 - -
5§“|LI_ ib‘fﬁbﬂi 80 60 20 £ 3 - -
~ == 350 270 130 50 - -
ING BB FERT 150 130 80 20 - -
INGER/NE BT 200 180 130 60 - -

B ENST) 110 90 50 20 - -
FEINERF 2 EHET 20 10 * * - -

it 2 EEER % BT 110 50 20 * - -
NI 740 570 250 60 * -

FTIER 54 890 690 330 140 * -
FHEM 860 810 690 550 200 *
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J\FEET 330 310 270 220 110 -

FEET 630 480 210 50 * -

T 1,920 1,540 880 250 * -

KM 80 70 40 20 - -

Eamdit] 220 180 50 20 - -

ERE MmEDRT 370 290 130 30 - -
ichedlii] 190 180 150 120 40 -

AT AR B ET 80 70 50 30 - -

% BRFLAITET 410 330 100 * - -
FEFFEMF A HET 250 230 200 160 70 *
EFENZ T 720 700 630 550 300 30

=301 3,430 3,250 2,650 1,620 140 *

ES=ht) 400 370 310 260 120 *

7= 1,060 1,040 990 900 510 60

rEEf 1,550 1,470 1,290 1,050 270 *

TiET 480 460 390 300 220 *

Al 1,460 1,440 1,380 1,270 810 130

BET 1,350 1,330 1,280 1,230 980 190
TiEBKT 1,550 1,530 1,470 1,400 1,180 690

M5+ 510 470 390 320 150 60

=R BETH 1,350 1,320 1,230 1,090 620 30
BB EHET 170 150 110 70 10 -

T AR E - FIHT 110 100 80 50 20 *

L= E0 H ErHT 90 80 60 30 * -

T = A HET 130 110 80 60 20 *

R =T A 210 190 160 100 40 *

= 8 AR A £ { BT 580 570 550 510 390 120

= AR 5 AT 340 340 330 310 270 140

1% 2 AR K A BT 340 330 320 290 210 70

1% 22 AF 2 ET 1,230 1,210 1,180 1,130 950 410

M mFgEI R 280 220 110 40 * -
dEAMm AR 90 70 20 * - -
dAamm/hEILRX 250 120 20 * - -
:H:;;%I;ﬂill\%ﬁilz 260 180 100 70 - -
it 100 70 30 20 - -
Rl R L 10Dl 140 130 100 40 - -
FRARAR X FH BT 30 20 10 * - -
FELEAEE * * * * - -

& FE L EHRT - - - - - -

F AR LT 260 240 170 60 * -

K& 630 500 280 60 * -
R 380 290 170 40 * -

HRE™H 40 30 20 * - -

EEH 140 120 80 20 * -

NI * * * - _ _

EIZFE HEWM 440 390 250 40 * -
[ich 03] 210 170 100 30 * -

Elmh 30 20 20 * - -
HEBERM 120 100 70 * - -

L HER/MEE BT 70 70 40 * - -
FMEENET L B EET 240 210 130 10 - -

gkl REM 490 430 300 70 - -
TN REAEFEACET 20 20 10 * - -
Kot 2,040 1,720 1,010 200 * *

KPR BIFFH 320 300 220 90 * -
e 70 50 20 * - -
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#|m 2,190 2,140 1,990 1,650 600 50
FI¥FTh 570 550 480 340 * -
EARM 350 330 290 220 * -
2= HM 180 120 30 * - -
KR HEH 410 360 220 90 - -
FiE™H 310 190 50 * - -
EEH 290 230 140 70 - -
HEREESF 70 60 50 20 - -
R RERE BT 230 210 160 90 - -
=I5 3,570 3,250 2,430 1,530 430 *
R 2,790 2,650 2,250 1,620 700 50
HEth 800 730 640 520 100 -
HmE 2,030 1,980 1,810 1,490 450 20
=i 1B ESihhT 310 270 190 130 20 -
T RS EN S SRET 590 540 430 260 60 -
RS AR = BT 480 440 340 170 40 -
RZE0) | FaET 230 220 200 160 80 *
RiZERER = BT 340 330 300 270 140 *
BEIAFARFT) I ET 670 640 580 460 120 *
RERE™ 150 120 70 30 - -
BET 20 20 10 * - -
A E] 50 40 30 10 - -
fal AR T 140 110 80 40 - -
HK * * - - — -
bit=hitl 130 110 70 30 - -
Citpd 1] 420 400 340 250 80 -
Tk 50 40 30 * - -
FEEE)IINTH 220 190 140 60 - -
HEH 100 90 60 30 - -
Z£EmH 30 20 10 * - -
WEZEEKRFH 90 70 50 30 - -
BEs2Fm 300 240 150 70 - -
EmEh 450 420 350 230 10 *
=/EH 550 510 400 250 * -
EAM T 80 70 50 30 - -
wREM 30 30 20 * - -
EREHR=ZEH 20 20 10 * - -
EREE EREER+EH 170 150 110 40 * -
HKER K S HET 80 70 50 20 - -
B AR KU ET 300 250 170 100 20 -
FrE#R R £ B HT 80 70 60 50 * -
I /& AR gL BT * * * * - -
FF & &R A KB ET 180 160 140 100 * -
FF /= AR AT 4 BT 210 190 160 120 * -
REEBRhFEFHT 280 260 220 160 40 -
REERNmfEFHT 350 300 240 180 50 -
REEEFREAEHT 480 460 390 300 80 *
KEBRKFF 40 40 30 10 - -
K EBFIRA 60 50 40 10 - -
X BB EEF NET 250 220 150 50 -
X & BRAE SBRET 140 130 100 70 -
KXERREFHE 650 580 430 230 - -
KXEBEZ EHT 100 90 60 20 - -
K B BB R L ET 70 60 30 * - -
K EERFLET 30 20 20 * - -
X EERFI;AHET 40 40 20 * - -
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b[a%g_ K%EB?DEET 30 30 20 * - -
RPN ) 30 30 20 * - -
MEAT 30 20 10 * - -
BEREH 10 * * * - -
AiETH 280 240 80 * - -
b pr ] 20 10 * * - —
HiE™ 220 190 110 30 - -
Fimth 40 20 * * - —
pkET 70 40 * * - _
EREH 20 20 10 * - -
25FmH 120 100 50 * - -
EN=1-hil 200 170 100 20 - -
k4] 70 50 30 * - -
E3EEESESEIEE ) 190 140 60 10 - -
EEEB K E R 50 40 20 * - -
ESEEEER D) 30 30 20 * - -
EEEAR S IRIZHT 70 60 40 * - -
[E SEER A ERET 60 50 20 * - -
ESEEEHY =SR] 70 60 30 * - -
[ESEERE BFREHS 20 20 10 * - -
Il%:ggg{%ﬁtﬂ 40 30 20 * - -

N g SHAMPILF 20 10 * - - -
ARR ok 20 20 . . _ -
th BB AR 2= AN ET * * * * - -
FhEEERIL A ET 30 10 * * - -
rhEEERAL I AT * * * * - -
FREEER IS 20 10 * * - -
rh BB AR 75 R BT * * * * - -
E RER 5 AR R BT * * * * - -
ERAEZEH 20 20 10 * - -
B R AR EE e R AT 50 50 30 * - -
ERMEHF 20 10 * - - -
EREERLEN * * * * - -
ERAEXEH 10 10 * * - -
ERERIL KRB+ * * * * _ _
ERBFEEEH 80 70 40 * - -
EREFERH 90 80 40 * - -
ERAAKER 140 120 50 * - -
B R AN\ EERT * * * * - _
EhAZ EMA 50 50 20 * - -
J\NE LA =BT 370 300 100 - - -
J\ZE |LIAR 5 i [ BT 20 20 * - - -
— =KL
* D 1OND 32— LR

44




	（公表用）表紙
	ケース①_都府県
	ケース①_市町村
	ケース③_都府県
	ケース③_市町村
	ケース④_都府県
	ケース④_市町村
	ケース⑤_都府県
	ケース⑤_市町村



